P

, . F -
" « » 1
| -F E
- ! !
$ -
.D -
10 )
$
.D,
, $ B,
«H#
» A G
M MC~
, 1
L #
; )
1 # -
«tt
», -
1 mC”
- $ ! , <
- - ! - 3 -
, B. & - , BD
z A + 1 ! B
, - + ! ! - LA !
% A G C 1 1 A + -
1 N M - | -
5 # 6
>
- B -
% A G ; ’
, " - & i +
«H - L&
» + -
1 . F
o o
P f
&éL «+ >y -
.M
B T
- L
, 1
, 1
1
) - - 20
LI - -
30 - -
.1 , - :
1 .M B -
) - # G -
) - , ""B. , - ,
- + -+ 1
] , , .0
! : , ,
! e - ’ !
) ! - "A G
) - -+ , - - L -
1 . F + L I ol 732,1
1 - A G B - =
. , . 1 LA | 1@+ «=> ».
B , 3 , _ & weww ! $ ,
- 1 B 1
B** - 15
. ) 2
P . 1 R
- 1 F#«C 1 -
: | v - » + :
) A 1
) G . D -
) F#«C 1 » & - -
F 1
& - 1983 K - -

« Lt I © ot t>»
u ., -8 26t 2017 E
b}
12 2017 -
1 # $
2016 , $ $ -
L " #
% #
i$ % Y ¢ -
) $ 7 #  C
) * ) $ i + + #./
= # # $ . C $ # .
,  x z $ , 3 )
$ , #.
7 $ $ 2016
$ 2893 % $
$ 1$ 5 « $ » $°$
$ ;2130 = = # = ) $ >69
) .
5 $ = ) ) > 91% *-
) * ) ) T8
)$ * + :
- 187 4 * ;102 z 439
)¢
- 12? 4 ’ * 38 -
) z <
- 190 47y # ;13 ) c <
-286 TR $ * ) -
, + $ ;9 -
z 1 *
2016 $ 3 z
# s *x
$ ) $ )2 $ C
+ $ ) * ) *
10 % , $ )S$ $ )
$ , >$ $ $ , )
) ) & 0>
% $ 8> 27 * ), $ )6?$ $
7)) + . $ 13
5% * $ % -
89 )$ ,$ )$
$1>3 $ )
1g >+ # $ * -
) C = 3> * - ) )
z * $ . @
* - $ z ) 6 -
<$ )$ -10 < -?A
4 $ -
0>.07.2016;$ # 1>08 $ % 102 .B -
# % 16:2>) . + =+ -
$ 67> ) > # -
- > )$ 298 ¢ -
76 < $
61 < ) 38
< 12
B 1.01.2017 % %
z 781968 279980 .
B + 222 . C
+ $ ) ), # - ): 100 $ -
<3> i X>7-% $ *
+ $ <28 ) ) -
$ * ) #< 16 )
$ # $ ) 718
$ ) 79>
$ ,67> 3? $ $ . -
+ 32 $ $ 22
$ .5 z $ -
$ 23 -
% z $ , =-
2> - ? -
) »
A , + +
5 « # $ $ $
$ »$ 10
2016 # $ -
266 ) > # Ty -
1?? < , $
>9 < > 1>
& + $ 63 -
) z # 7% ) * .
) $ 30 < 9
< > + +
7« ) s ) 7
< ?
5 +
$ , 3 )5 « 1 +», -
* +, +
$ + ) ) z i$ ;
5 = * -
)$) = +
= ) #, .
) $ 2017 -
$ C z
= $ $
, * 7 $
$ ) $ $
B ++ %AC, -
# ” ) ) :
) # $ $
+ > $ ) )
0 #1 12,
C ) & 3 )$)& i 4+



